
SAP ABAP table OIG_V {TD Vehicle header data in transport}

OIG_V

COMP_GROUP [CHAR (8)]

VEH_TYPE [CHAR (4)]

CARRIER [CHAR (10)]

VOL_UOM [UNIT (3)]

WGT_UOM [UNIT (3)]

DIM_UOM [UNIT (3)]

EQUIP_NR [CHAR (18)]

ROUTE [CHAR (6)]

TZONE [CHAR (6)]

CALENDAR [CHAR (2)]

DEPOT [CHAR (4)]

VEH_SCREL [CHAR (10)]

REG_CNTRY [CHAR (3)]

GRP_ID [CHAR (10)]

CAP_UOM [UNIT (3)]

WT_UOM [UNIT (3)]

CLASS_GRP [CHAR (10)]

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 OIG_V-EQUIP_NR = EQUI-EQUNR 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 OIG_V-CARRIER = LFA1-LIFNR 

0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 OIG_V-VEH_SCREL = OIGV-VEHICLE 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIG_V-DEPOT = T001W-WERKS 

0..N

0..N
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OIG_V-REG_CNTRY = T005-LAND1 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIG_V-CAP_UOM = T006-MSEHI 

0..N

0..N
 OIG_V-DIM_UOM = T006-MSEHI 

0..N0..N  OIG_V-VOL_UOM = T006-MSEHI 
0..N

0..N  OIG_V-WGT_UOM = T006-MSEHI 0..N

0..N
 OIG_V-WT_UOM = T006-MSEHI 

0..N

0..N
TFACD

IDENT [CHAR (2)]

 OIG_V-CALENDAR = TFACD-IDENT 0..N0..N

TOI0_CP_GRP

MANDT [CLNT (3)]

GRP_ID [CHAR (10)]

 OIG_V-GRP_ID = TOI0_CP_GRP-GRP_ID 

0..N

{0,1}

TOIGBV

CLIENT [CLNT (3)]

GROUPNAME [CHAR (8)]

 OIG_V-COMP_GROUP = TOIGBV-GROUPNAME 

0..N

0..N

TOIGV

CLIENT [CLNT (3)]

VEH_TYPE [CHAR (4)]

 OIG_V-VEH_TYPE = TOIGV-VEH_TYPE 

0..N

0..N

TOIGVCLGR

MANDT [CLNT (3)]

CLASS_GRP [CHAR (10)]

 OIG_V-CLASS_GRP = TOIGVCLGR-CLASS_GRP 

0..N

0..N

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 OIG_V-TZONE = TTZZ-TZONE 

0..N

0..N

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 OIG_V-ROUTE = TVRO-ROUTE 

0..N

0..N


